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M.A. (Final) Examination, 2022
ECONOMICS
Paper - V

(Developmental Economics and Indian Planning)

Time : 3 Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all ten questions (Answer limit 50 words). Each question carries

Note —

e —

2 marks.

(@us—3) (3® : 2 x 10 = 20)
Tt T/ e & S ST (SW-EE 50 I8) | Yo WY 2 3 T §|
Section-B (Marks : 7 x 5 = 35)

Answer all five questions. Each question has internal choice (Answer limit
200 words). Each question carries 7 marks.

(@) (3% : 7 x 5 = 35)
Tfi Ut Y3l % S QIGT Y Wed H fased @ we wifee (SWR-E
200 31%) | YAF I 7 3H H T

Section—C (Marks : 15 x 3 = 45)

Answer any three questions out of five (Answer limit 500 words). Each
question carries 15 marks.

(Tue-—|) (3% : 15 x 3 = 45)

o | 9 fe=l 9 gvH ® Sw ST (SW-H 500 Is2) | YAE 9T 15 376
Ealkd
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Section—-A
(@us-3)
1. (@ Difference between Economic Growth and Economic Development.

e gfg den enfees fasma # e

(i) Human Development Index (HDI).

A faerE gt (TH.EeTE) |
(ii1)) Reserve Army.
FANfer &1
(iv) Write down any fwo assumptions of Solow Model.
el Afed it HE & T fafen |
(v)  Planning.
EEISEL
(vi) Financial Resources.
ot wwe |
(vi) Capital Output Ratio
ISt 3 ST |
(viii) Input-Output Coefficient.
3Ta-fta TqomeR |
(ix) Lorenz Curve.
AN T |
(x)  Write down any two problems in the development of Rajasthan.

ToeE & o | o arett fF=l ar gaemst =1 fafeu)
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Section-B
(TUs-9)
2. What is Sustainable Development ? Write down its goals.
Haq fow #1 § 7 3Ee oeg faten
Or
(3=
Explain Denison Model in brief.
<fted Afed =1 989 H TAFEC
3. Explain David Ricardo Development Theory.
Sfore Repfel o g =1 wwgmEw |
Or
(3=
Write a short note on the Marxian Model of Economic Growth.
e gfg & AEdaR! Afed W T wfaa feoh fafem)
4.  Explain balanced growth model.

gferd gfg Hied w1 q9ET)

Or
(3=
Explain the unbalances in the Economy with SOC and DPA.
TH.3MH. qen LT & WY e § STT<e S A |
5. Explain Input-Output Model.
Sa-frfa Afea =1 THemsT
Or
(3=

Explain Capital Output Ratio with its types.

ISt 3R STUE F THE YR Hied EHEEU
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6. Explain Gadgil formula.
MEMTA Wi Hl FHAET |
Or
(3=
Why was NITI Aayog formed ? Explain the major functions of NITI Aayog.
Hifq = &1 TS F= fmA wen 2 ifa s % g v fafew)
Section—-C
(Tue-9)
7. Explain the role of Information Technology in Development.
fowma # g= gt @t yfie T
8. Explain Harrod-Domar Model. What is the difference between Harrod and
Domar Model ?

S-S Ofed % FHFAEY| B qe1 ST Higd H <R 1§ ?
9. Explain the Mahalanobis four Sector Model.

TEICHIE % W’ 8519 dieel sl el it |
10. Explain cost benefit analysis for Project Evaluation.

IRESHT Jedied & faw ara v favemsor w1 v Fwifew |
11. Explain the Five Year Plans with its goals and achievements.

e IEg AT o Sevd qYl Sucieudl 9ied S l hife |
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